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Calculator Instructions

Do this every time you get the

calculator for the day.

1. 2™+712

2. 2™ 0 x' DiagonosticOn
enter enter

3. 2" Window (change)
Indpnt to ASK
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Explain in complete sentences what the -3
coefficient of x* would tell you about the
function, y = -3x%+ 4x - 2.

Practice Worksheet: Graphin

uadratic Functions in Standagd Form D
1] For any quadratic of the form y = ax? + ¢, the axis of symmetry is always the line = C

2] 1If the axis of symmetry of a quadratic is x = 2 and (=1, 3) is on the graph, then the point

4] The graph of y = 2x? + 4x + 3 passes through the point ) and (-1. )-

<gz))53o3
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also be on the graph.
3] For any quadratic of the form y = ax? t.¢. the y-intercept is aljyays the same point as !hm
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51y = x% — 4x

a= , b==0F ¢ = T

Opens @ br down?
Is vertex a max o

y-intercept: (0] 1‘
Axis of Symmetryli

Vertex: (&, i)

Lo |- n e x o o N

13]_ A baker has modeled the monthly operating costs for making wedding cakes by.the function
y= %XZ —12x + 150 whcr;b the tota) @ dollars an@ the number d @ epared.
A] What is the minimum Operating @r . | 7. /l 8
“he min. OpPef~A Lot
81%.
B] How many c&es should be prepared to yield the minimum operating cost?
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Finish worksheet and turn in before you
leave.
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